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(RALEERIAS: 2021 4E5E A HAE 1/30) ART1
a=(1, 2, /3), b=(/3, 0, 3)1Z2\T, ROMNIEZ L,
1) |a 2k,
2 albDkdfEoERDL,
() @ &b DEAICEET, AXIN2DONRY Mle ik FRTRDL,
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ROFAEREER T, 72720, 0<x<m &T5,

(1) sin2x=./3sinx

2) J3cosx+sinx=./3

(3) +/3cos2x +sin2x=./3cosx +3sinx

(R 2021 £ A HF21/30] AR 3
EDEE k, I, m LT

pelilil
Bk L, mMH

EZI<m, k+1+m=10
T EE, ROBNIEZ X,
1) k=30DLx, |, m DiEERDEL, X56II, POMEERDL,
2 RDEY S BMEEZTNTRDE,
3) POERAELE/IME BIOZDLXDE I, m DfEERD L,

(REILERRYE 2021 4252 A HF21/30] KR4
a BIEDEBE, f(x)=x3—5x2+(2a*—a+5x—6a2+3a+3 ¢35, ROMNEZ X,
1) f(3) DfEERD L,
@) 3WHER f(x) =0 OEHTRTERCTHZ X, o OES L0 3KHER f(x) =0 OfEETRTHRD L,
3 pEFHELTD, IXAER f(x) +p°=0 NEDEBHEMIEDL S a, pDffi(a, p) ZINTRDL,
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a ®FEH, flx)=—x2—6x—10 L5, B y=/f(x) DIT T % x BlIFFAIZ 2a, yEIAMEIC a 727 FETHE)

Ui s'5 7 e R BME y=g(x) L35, ROMIELL,

1) B y=r(x) DZT 7 DIERDERE KD X,

2) a=20r%, AER g(x) =0 OfEERD X,

3) AR g(x) =0 WO LUTDOELRZ D2 LE 1 D2ED LD 7 a DIEDEFHZ KD X,



